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5 &M # 10 540,000 50 0 50
EF F W B 9 580,000 48 0 48
£ = M G 8 580,000 56 0 56
mE W i 9 580,000 53 0 53
T+ & ™ & 8 580,000 43 9 52
A g B 9 580,000 53 10 63
®m £ W L 8 580,000 48 0 48
TEF KT B 8 580,000 48 5 53
B+ & 8 580,000 46 0 46
F Em oM i 8 580,000 51 0 51
F X & 9 540,000 47 0 47
BOF H i 8 580,000 50 0 50
= 3 7 ET G 8 580,000 43 7 50
H % B 8 580,000 52 9 61
% B H G 8 580,000 46 9 55
i N ow B 10 580,000 46 5 51
E B & G 8 580,000 44 9 53
= @ # i 8 580,000 62 0 62
A Wi H i) 5 580,000 44 8 52
X 2 H B 6 580,000 34 0 34
T & H G 7 580,000 44 9 53
X no# B 4 580,000 43 0 43
LN o HT 37 8 580,000 45 0 45
= = I HET B 8 580,000 38 0 38
=l ol ) L 9 580,000 61 0 61
& nl H B 8 580,000 42 0 42
M o& H G 8 580,000 49 7 56
B R H i 10 580,000 55 0 55
A & # L 9 580,000 49 0 49
b= )| B 9 580,000 56 7 63
7+ H G 8 580,000 53 0 53
X A H B 8 580,000 44 5 49
= R & i) 8 580,000 46 5 51
£ 8 i 8 580,000 44 8 52
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we | ea %) (%) (F) (F)
30 20 50 8.76 0.00 24,000 18000 |& #1 T
34 18 52 9.20 0.00 26,800 20100|Z F W
30 14 44 7.70 0.00 22,000 16500 |2 = T
28 19 47 8.30 0.00 30,000 22500 B
29 20 49 8.00 30.28 26,800 20100|£ & ™
23 14 37 7.80 30.00 25,000 18750 |78 &
32 20 52 8.00 0.00 23,000 1725058 £
28 19 47 7.30 25.00 25,000 18,750 | L1k B K™
37 17 54 6.40 0.00 15,000 11250 |® 5 +
34 15 49 7.70 0.00 20,000 15000 |&F & ™™
37 16 53 6.30 0.00 15,000 11250 |&F =
35 15 50 7.10 0.00 16,000 12,000 |38 ¥ HT
34 16 50 6.35 38.00 19,000 14,250 | &= ¥ F) HT
26 13 39 6.00 29.00 17,000 12,750 | % HT
28 17 45 7.10 38.00 22,000 16,500 |z H HT
29 20 49 7.50 20.00 22,500 16,875 |4t JIIl  #F
27 20 47 6.20 45.00 26,000 19,500 |& E& #F
25 13 38 8.10 0.00 23,000 17250 |= @ #
32 16 48 6.50 35.00 15,500 11,625 |& L HT
39 27 66 6.20 0.00 23,000 17250 | X 2 Hy
33 15 48 6.00 33.00 15,000 11250 |+ & HT
40 17 57 2.90 0.00 6,500 4875 | KX Il #F
39 16 55 6.80 0.00 19,000 14250 LY o HT
43 19 62 5.80 0.00 16,000 12,000 |1= & JII HT
25 14 39 7.35 0.00 21,000 15,750 | * {k& HT
40 17 57 6.20 0.00 18,000 13,500 [4& JII HT
27 17 44 7.70 30.00 18,000 13,500 |#& %1 HT
31 14 45 7.50 0.00 13,400 10,050 |#5 R HT
36 15 51 6.95 0.00 14,400 10800 |H & #
22 15 37 7.80 20.00 22,000 16,500 i ¥ HT
27 20 47 7.90 0.00 19,800 14,850 |4 5 + HT
31 20 51 7.00 28.00 23,000 17250 | X A H
27 22 49 6.22 15.00 18,000 13500 |= R/ #F
29 19 48 7.10 26.00 21,600 16,200 |2 & H
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= & # 10 190,000 50 0 50
EF F W B 9 190,000 30 0 30
£ = M i) 8 190,000 61 0 61
mE W i 9 190,000 54 0 54
T & & 8 190,000 45 9 54
A g B 9 190,000 60 2 72
®m £ W L 8 190,000 52 0 52
TEF KT B 8 190,000 51 7 58
B+ & 8 190,000 42 0 42
F Em oM i 8 190,000 51 0 51
F X & 9 190,000 46 0 46
BOF H i 8 190,000 50 0 50
= 3 7 ET G 8 190,000 43 7 50
H % B 8 190,000 55 6 61
% B H L 8 190,000 45 7 52
i N ow B 10 190,000 41 8 49
E B & & 8 190,000 39 7 46
= @ # i 8 190,000 64 0 64
A Wi H L 5 190,000 45 8 53
X 2 H B 6 190,000 35 0 35
T & Hr L 7 190,000 45 8 53
X no# B 4 190,000 44 0 44
W o Hr & 8 190,000 45 0 45
= = I HET B 8 190,000 38 0 38
=l ol ) L 9 190,000 56 0 56
& nl H B 8 190,000 42 0 42
M o& H i) 8 190,000 4 8 49
B R H i 10 190,000 54 0 54
A & # i) 9 190,000 47 0 47
b= )| B 9 190,000 60 4 64
B+ Hr L 8 190,000 55 0 55
X A H B 8 190,000 46 5 51
= R & i) 8 190,000 39 8 47
£ 8 i 8 190,000 44 8 52
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v = @ FeEl | AEE | %3 Bl | &
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30 20 50 3.12 0.00 7,200 7,800 3,900 5850 |& &1 T
52 18 70 1.10 0.00 9,400 5,200 2,600 3900 | F
26 13 39 2.50 0.00 6,800 6,000 3,000 4500 |&% = ™
27 19 46 2.60 0.00 8,100 9,400 4,700 7,050 |Fg E T
28 18 46 2.50 9.72 6,700 7,400 3,700 5550 | {& T
17 11 28 3.20 13.00 6,000 7,000 3,500 5250 |78 & TH
31 17 48 2.30 0.00 6,000 5,500 2,750 4125|188 £ ™
28 14 42 250 1000] 7000 6000] 3000 4500 [TEF]
39 19 58 2.50 0.00 8,700 7,000 3,500 5,250 |9 5+
33 16 49 2.30 0.00 8,000 6,800 3,400 5100 |& &
35 19 54 2.00 0.00 7,200 6,000 3,000 4500 |&F = ™
35 15 50 1.90 0.00 7,000 4,000 2,000 3,000 | ¥ HT
34 16 50 1.90 12.00 7,500 5,700 2,850 4,275 | &= 3 F| BT
24 15 39 2.00 6.00 6,000 6,000 3,000 4,500 |E %5 HT
33 15 48 2.20 10.00 8,000 6,000 3,000 4,500 |&Z H BT
31 20 51 2.20 9.00 7,200 7,200 3,600 5,400 |4t JII
31 23 54 1.20 8.00 6,000 7,000 3,500 5250 |& %
24 12 36 2.70 0.00 7,000 7,000 3,500 5250 |= 7 #t
29 18 47 3.00 16.00 8,500 7,500 3,750 5625 |A& L HT
44 21 65 2.31 0.00 9,500 6,600 3,300 4,950 | X £ Hr
33 14 47 2.00 10.30 6,800 4,600 2,300 3,450 |+ & HT
39 17 56 3.00 0.00[ 10,400 6,600 3,300 4950 | X JiII
39 16 55 2.30 0.00 9,500 6,600 3,300 4,950 |Lv > HT
43 19 62 2.14 0.00 8,800 6,100 3,050 4,575 |{= &I BT
31 13 44 2.22 0.00 9,000 6,000 3,000 4,500 | L 1E BT
41 17 58 2.30 0.00 9,600 6,600 3,300 4,950 |{&£ JIl HT
33 18 51 2.70 13.00 9,000 8,000 4,000 6,000 |i#% %1 HT
32 14 46 2.40 0.00 6,300 4,400 2,200 3,300 |45 [R HT
36 17 53 2.00 0.00 6,300 4,800 2,400 3600 |H & #
20 16 36 3.50 4.00 7,000 9,000 4,500 6,750 |;& %7 HT
27 18 45 3.40 0.00 6,400 7,000 3,500 5,250 |9 75 + BT
29 20 49 3.00 12.00 8,000 9,200 4,600 6,900 | X A HT
36 17 53 2.25 10.00 8,000 5,900 2,950 4425 |= R #
29 19 48 2.75 11.00 7,800 8,400 4,200 6,300 | £ & HT
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= & # 10 160,000 50 0 50
EF F W B 9 160,000 48 0 48
® = G 8 160,000 58 0 58
mE W i 9 160,000 53 0 53
T & & 8 160,000 50 6 56
A g B 9 160,000 60 7 67
®m £ W L 8 160,000 47 0 47
TEF KT B 8 160,000 56 3 59
B+ i) 8 160,000 43 0 43
F Em oM i 8 160,000 54 0 54
F X G 9 160,000 50 0 50
BOF H i 8 160,000 50 0 50
= 3 7 ET i 8 160,000 48 0 48
H % B 8 160,000 64 0 64
% B H i) 8 160,000 45 0 45
i N ow B 10 160,000 42 0 42
E B & & 8 160,000 60 0 60
= @ # i 8 160,000 59 0 59
A Wi H i) 5 160,000 46 3 49
X 2 H B 6 160,000 35 0 35
T & Hr L 7 160,000 50 7 57
X no# B 4 160,000 34 0 34
LN o HT 37 8 160,000 45 0 45
= = I HET B 8 160,000 40 0 40
=l ol ) L 9 160,000 61 0 61
& nl H B 8 160,000 46 0 46
M o& H L 8 160,000 42 8 50
B R H i 10 160,000 54 0 54
A & # L 9 160,000 52 0 52
b= )| B 9 160,000 54 9 63
B+ Hr L 8 160,000 53 0 53
X A H B 8 160,000 42 4 46
= R #& L 8 160,000 50 1 51
£ 8 i 8 160,000 46 5 51
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ARBARER) BEITH T HEIE (%) B =
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v = miesl | mEE | %8 | wzm | TOHE
BERIRE | THARE &
(%) (%) (M) (M)
30 20 50 2.76 0.00 8,400 6600 %01 T
36 16 52 2.20 0.00 10,800 5800[2 & @
30 12 42 2.30 0.00 10,000 50000% = T
29 18 47 2.30 0.00 9,100 72000 E 7
27 16 43 2.50 7.50 8,000 5000[+ &
21 12 33 2.00 7.00 7,700 5600/ W5 @
33 20 53 2.00 0.00 7,500 5300/ £ 1
27 14 41 2.50 5.00 8,000 5,000| + % ;&K
39 18 57 2.10 0.00 9,000 5000|m % + i
30 16 46 2.00 0.00 8,000 5000[% ®& @
29 21 50 2.00 0.00 7,000 6000|F £ T
50 0 50 1.10 0 8,000 ol ¥ r
52 0 52 1.90 0 11,800 olz * 7 mr
36 0 36 2.00 0 10,000 ol % &
55 0 55 1.80 0 15,600 oz B ®
58 0 58 1.80 0 10,000 ol 1 #
40 0 40 1.60 0 8,400 ol & #
23 18 41 2.30 0.00 9,000 o000 & #
28 23 51 3.00 11.00 9,500 8500[A4 L Ay
47 18 65 1.90 0.00 9,900 a600lx £
27 16 43 1.60 9.00 6,000 s000[+ 4 Hr
46 20 66 3.10 0.00 14,300 73000k JiI #
39 16 55 2.00 0.00 10,500 s N
43 17 60 1.77 0.00 9,200 4,200[4= 3 )1l By
26 13 39 2.14 0.00 8,000 5000|% + & BT
38 16 54 2.10 0.00 11,000 s5500[4 )il AT
34 16 50 2.50 17.00 11,000 soooli % B
32 14 46 1.40 0.00 5,000 2500l B AT
33 15 48 2.50 0.00 8,400 aso0lB B #
19 18 37 2.50 14.00 7,000 soooliz B M
31 16 47 270 0 8,000 5,000[78 5 + AT
32 22 54 1.43 7.16 7,000 6000|x A Hr
22 27 49 1.45 1.00 3,000 as00l= B #
30 19 49 2.60 8.00 9,300 70002 & @7
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—BRIRRIR | o pes 5 HEFH | (©+((D)
(A) @ | meww |EEERA (D) (E)

5 &M 163,031 328,077 43,722 65 43,787 95 43,882
E F 7,378 13,218 2,862 4 2,866 10 2,876
® % 8,314 17,266 3,435 3 3,438 7 3,445
m E W 22,033 47,176 6,706 18 6,724 14 6,738
T & ™ 12,487 27,015 4,567 9 4576 5 4,581
A B 10,767 21,641 3,996 9 4,005 5 4,010
m £ 10,097 20,375 3,668 11 3,679 12 3,691
TEFKT 7,298 13,530 2,880 5 2,885 10 2,895
B+ ™ 16,545 33,764 5,600 9 5,609 12 5,621
F m m 14,882 33,234 5,139 8 5,147 6 5,153
EF E= 12,970 26,121 4,430 6 4,436 13 4,449
BOE H 1,430 2,410 530 2 532 1 533
= ¥ 7 E 1,710 3,185 589 3 592 1 593
B % & 1,310 2,622 503 0 503 1 504
% MWl H 1,288 2,690 516 1 517 0 517
i N w 621 1,290 224 0 224 1 225
E B M 419 870 127 0 127 0 127
= B # 1,739 3,761 776 0 776 2 778
A i H 1,852 3,486 569 0 569 0 569
X 2 H 2,121 3,634 700 2 702 1 703
T & Hr 1,931 3,851 587 3 590 3 593
X Jo#® 230 399 63 1 64 0 64
AN/ N1 10,604 22,840 3,579 11 3,590 10 3,600
= = B 2,969 5,327 934 6 940 2 942
Btk BT 3,517 6,823 1,183 4 1,187 4 1,191
& 6,100 12,825 2,060 5 2,065 8 2,073
HMoo& HET 2,823 5,605 915 1 916 3 919
B R H 1,770 3,497 610 2 612 0 612
A & # 2,442 5,026 835 1 836 2 838
b= S ) 2,671 5,788 923 0 923 0 923
B+ H 8,478 17,040 3,125 15 3,140 9 3,149
X A H 2,625 5,008 1,104 2 1,106 4 1,110
= B & 758 1,510 299 2 301 0 301
£ 8 5,523 11,217 2,144 6 2,150 14 2,164
it} &t 285,802 581,417 87,005 147 87,152 189 87,341
BT # &t 64,931 130,704 22,895 67 22,962 66 23,028
=) &t 350,733 712,121 109,900 214 110,114 255 110,369
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7,835 66,003 160 19 179 66,182 %0 T
486 4,401 14 3 17 4418|Z F ™
684 5,757 10 1 11 57681&% = T
1,337 10,638 32 4 36 10674|F8 E T
822 7,667 14 0 14 7681l & T
696 6,376 14 3 17 6,393|28 W T
660 5,785 23 1 24 5809|/8 £ ™
534 4,466 15 3 18 4,484] L1k B K™
979 8,741 21 2 23 8764|m 7 +
1,058 8,537 14 0 14 8551|&F ® ™
887 6,832 19 2 21 6853|F = T
79 780 3 0 3 783|E ¥ HT
116 930 4 0 4 934|%& # # HT
117 781 1 0 1 782|H B HT
119 819 1 0 1 820|% M Hr
47 335 1 0 1 336jdt il
29 186 0 0 0 86| B& #F
144 1,413 2 0 2 1415|= @ #t
142 785 0 0 0 785|A L HT
140 991 3 0 3 994\ K £ H
132 910 6 0 6 916 {& HT
10 90 1 0 1 9a|xK Il #t
788 5517 21 1 22 5539|Ly @ HT
192 1,364 8 0 8 1,3724= 3= )| HT
215 1,789 8 0 8 1,797|% * £ HT
433 3,147 13 2 15 3,162 JII HT
196 1,400 4 1 5 1,405|#% %0 HT
115 894 2 0 2 896l R HT
170 1,297 3 0 3 1,300 &
203 1,408 0 0 0 1,408|;E ¥ HT
559 4,987 24 1 25 5012|095 + HT
202 1,730 6 0 6 1,736} X A H
63 432 2 1 3 43|= | #
441 3,386 20 2 22 3408|2 & Hr
15,978 135,203 336 38 374 135,577 | 5
4,652 35,371 133 8 141 35512 |ET #F F
20,630 170,574 469 46 515 171,089 | & E
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(A) & | Btwm |EOERE) () (K)

5 &M 163,031 328,077 43,722 65 43,787 95 43,882
EF F W 7,378 13,218 2,862 4 2,866 10 2,876
® = 8,314 17,266 3,435 3 3,438 7 3,445
mE W 22,033 47,176 6,706 18 6,724 14 6,738
T & ™ 12,487 27,015 4,567 9 4576 5 4,581
A g 10,767 21,641 3,996 9 4,005 5 4,010
m £ 10,097 20,375 3,668 11 3,679 12 3,691
TEF KT 7,298 13,530 2,880 5 2,885 10 2,895
B+ 16,545 33,764 5,600 9 5,609 12 5,621
F Em oM 14,882 33,234 5,139 8 5,147 6 5,153
E £ 12,970 26,121 4,430 6 4,436 13 4,449
BOF H 1,430 2,410 530 2 532 1 533
= 3 7 ET 1,710 3,185 589 3 592 1 593
B % 1,310 2,622 503 0 503 1 504
% B H 1,288 2,690 516 1 517 0 517
| A T ) 621 1,290 224 0 224 1 225
E B & 419 870 127 0 127 0 127
= @ # 1,739 3,761 776 0 776 2 778
A W H 1,852 3,486 569 0 569 0 569
X 2 H 2,121 3,634 700 2 702 1 703
T & Hr 1,931 3,851 587 3 590 3 593
X no# 230 399 63 1 64 0 64
W o Hr 10,604 22,840 3,579 11 3,590 10 3,600
Z = Nl BT 2,969 5,327 934 6 940 2 942
1 {k BT 3,517 6,823 1,183 4 1,187 4 1,191
£ Il HT 6,100 12,825 2,060 5 2,065 8 2,073
o0 HET 2,823 5,605 915 1 916 3 919
B R H 1,770 3,497 610 2 612 0 612
A & # 2,442 5,026 835 1 836 2 838
b= ) 2,671 5,788 923 0 923 0 923
7+ H 8,478 17,040 3,125 15 3,140 9 3,149
X A H 2,625 5,008 1,104 2 1,106 4 1,110
= R & 758 1,510 299 2 301 0 301
£ 8 5,523 11,217 2,144 6 2,150 14 2,164
it} &t 285,802 581,417 87,005 147 87,152 189 87,341
BT 4 &t 64,931 130,704 22,895 67 22,962 66 23,028
=) &t 350,733 712,121 109,900 214 110,114 255 110,369
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WREREORKR
w & KB F %
—fRRl | EER | BRT | WETRA
T BEH (L) + (M)
(L) (M) (N)
66,003 179 66,182l %0 T
4,401 17 4418|FZ F T
5,757 11 5768|& = T
10,638 36 10674|F@ E T
7,667 14 76811t & T
6,376 17 6,393|2E & T
5,785 24 5809|8 £ T
4,466 18 4484 | L 1kE KT
8,741 23 8,764|™ 5 +
8,537 14 8551|1F%F ® T
6,832 21 6,853|F% = T
780 3 783|® ¥ HT
930 4 934|%& #F #| HT
781 1 782|H EF HT
819 1 820|% H HI
335 1 336[dt Il #F
186 0 186|% &
1,413 2 1415|% # #f
785 0 785|A& L HT
991 3 994\ K £ Hr
910 6 916|+ 1& HT
90 1 91k Nl #
5517 22 5539|Ly @ HT
1,364 8 1,3724= 3= Nl Hr
1,789 8 1,797|% L & BT
3,147 15 3162|142 Nl HT
1,400 5 1,405|#% %0 ET
894 2 896|#%F R HT
1,297 3 1,300 & #
1,408 0 1,408);% %5 HT
4,987 25 5012|m9 75 + HT
1,730 6 1,736| X B Hr
432 3 4351= R’
3,386 22 3408|2 & HT
135,203 374 135,577 | H
35,371 141 35512 |AT #F §
170,574 515 171,089 | & &

103



(2)MAZBDKRRE(FERI1ESA31BIEE)

/N MG ERBERRDEITRD S
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HETHE | % % | A 0O — B RRE HFEY Emmmr| & &

—BRIIRIR | o psie s 5t HEEFH | 0+W)

(A) @ | Btwm |EEERR () (K)

5 &M 163,031 328,077 18,512 9 18,521 131 18,652
E F M 7,378 13,218 1,195 1 1,196 13 1,209
# = 8,314 17,266 1,648 0 1,648 10 1,658
mE W 22,033 47,176 2,791 1 2,792 25 2,817
+ & 12,487 27,015 1,981 1 1,982 10 1,992
A g 10,767 21,641 1,641 1 1,642 10 1,652
B\ £ 10,097 20,375 1,625 2 1,627 15 1,642
TEF KT 7,298 13,530 1,206 0 1,206 13 1,219
B+ 16,545 33,764 2,442 2 2,444 15 2,459
F Em oM 14,882 33,234 2,252 3 2,255 10 2,265
E £ 12,970 26,121 1,775 2 1,777 15 1,792
BOF H 1,430 2,410 225 0 225 3 228
= 3 7 ET 1,710 3,185 279 0 279 4 283
B % 1,310 2,622 248 0 248 1 249
% B H 1,288 2,690 241 1 242 0 242
| A T ) 621 1,290 89 0 89 1 90
E B & 419 870 44 0 44 0 44
= @ # 1,739 3,761 372 0 372 2 374
A W H 1,852 3,486 213 0 213 0 213
X 2 2,121 3,634 236 0 236 3 239
T & Hr 1,931 3,851 243 0 243 5 248
X no# 230 399 26 0 26 1 27
W o Hr 10,604 22,840 1,423 2 1,425 13 1,438
Z = Nl BT 2,969 5,327 336 1 337 4 341
1 {k BT 3,517 6,823 481 1 482 7 489
£ Il HT 6,100 12,825 804 1 805 10 815
& HT 2,823 5,605 406 0 406 4 410
B R H 1,770 3,497 231 0 231 1 232
A & # 2,442 5,026 325 0 325 3 328
b= ) 2,671 5,788 376 0 376 0 376
7+ H 8,478 17,040 1,336 2 1,338 16 1,354
X B Hr 2,625 5,008 523 0 523 6 529
= &’ # 758 1,510 125 0 125 2 127
£ 8 5,523 11,217 884 0 884 17 901
it} &t 285,802 581,417 37,068 22 37,090 267 37,357
BT 4 &t 64,931 130,704 9,466 8 9,474 103 9,577
=) &t 350,733 712,121 46,534 30 46,564 370 46,934
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(BGL -, N)

WREREORKR
w & KB F %
—fRRl | EER | BRT | WETRA
T BEH (L) + (M)
(L) (M) (N)
21,356 146 21502\ %0 T
1,431 16 1447|1Z F
2,049 11 2060|% = T
3,288 28 3316|m E
2,463 11 24741 &
2,041 11 2052|178 & TH
1,932 18 1950178 £
1,440 15 1,455| L& /KT
2,862 17 2879\ B +
2,751 13 2764|F ® T
2,105 18 2123|F %=
275 3 218 ¥ HT
333 4 337|F& # # HT
299 1 300|m % HT
307 1 308|% H HI
104 1 10504t Nl &
51 0 5118 B
491 2 493|1% B
235 0 235|A& L HT
276 3 279| K £ Hr
283 5 288|t {& HT
30 1 MR Nl #
1,679 15 1,694|Ly OO HT
387 5 392|1= = Nl HT
570 8 578|9 L £ HT
952 11 963|4& JIl HT
477 5 482|#% %0 HT
271 1 272|1% R HT
386 3 |8 & #
458 0 458;% ¥ HT
1,621 18 1,639|9 5 + HT
640 6 646| KX A Hr
156 2 158|1= ® #
1,078 19 1,07|2 # H
43,718 304 44,022 | H
11,359 114 11473 |8 & §
55,077 418 55,495 | & &
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